
55

53
54

37

65

32

44

45

14

10

45

44

43

17

2

4

3

19
18

18

19
40

80

11

22

58

56

24

39

1

47

45

34
23

6

29

19

5

23

63 62
68 8

9

31

12

7

16
15

13

34

12

19
60

42

59

44

41

48

27
19

44
46

26

51

21 33

4751

80

71
72

73
74

75

75

76

77

78

79

81

It may not be reproduced in whole or part, provided to third parties,
or used for any purposes other than the performance of work for Nautilus, Inc.
without written authorization. All rights are reserved, including copyrights. 

This document is the property of Nautilus, Inc.  
IC PRO, SILVER 
100114

REV

A



DWG # DESCRIPTION PART #
1 FRAME 002-1150
2 RIGHT CRANK W/ SPROCKET, ISIS M12 80034
3 BOTTOM BRACKET, OVERDRIVE 68X113 84990
4 CHAIN ½ X 3/32   112 LINKS 95120
5 RESISTANCE ASSY 84965
6 BRAKE PADS 92874
7 SEAT POST 84973
8 SEAT ADJUSTING BRACKET 84975
9 SEAT, 7777-1 BLACK 93092
10 OUTER CHAINGUARD 002-1151
11 INNER CHAINGUARD 002-1152
12 SLEEVE, SEAT POST/HANDLEBAR 84966
13 TENSION KNOB BALL PIVOT 84976
14 RUBBER CHAINGUARD RING 91719
15 ROD CARRIER 98009
16 SQUARE NUT FOR TENSION KNOB 98022
17 CRANK BOLT 8MM FOR ISIS 80044
18 HEX HEAD SCREW M6 X 1.0 X 12L 95432
19 WASHER M6 6.25 X 16 X 1T STAINLESS 95431
21 FLANGED AXLE NUT 000-0389
22 LEVELER NUT 95577
23 NYLON NUT M6 X 1.0 95456
24 LEVELER FOOT 84995
26 HEX HEAD SCREW M6 X 1.0 X 15L 98775
27 ADJUSTING BOLT, STAINLESS 95433
29 T-HANDLE POP PIN, DOUBLE LEAD 84994
31 TENSION KNOB 84974
32 CHAIN ADJ BRACKET, LEFT 002-1153
33 CHAIN ADJ BRACKET, RIGHT 002-1154
34 YELLOW PLASTIC BUSHING, SET OF 2 92204
37 FLYWHEEL, COMPLETE 84996
39 FRONT STABILIZER ASSY 22" W/ TRANSPORT 002-1155
40 REAR STABILIZER 22" 002-1156
41 TRANSPORT WHEEL 92220
42 HANDLEBAR 84959
43 PEDALS, SET 9/16” W/TOECLIPS 95129
44 WASHER M8 19 X 8.5 X 1T STAINLESS 95426
45 NYLON NUT M8 X 1.25 STAINLESS 91731
46 HEX BOLT M8 X 1.25 X 40L STAINLESS 95434
47 BOTTLE CAGE BOLT 95428
48 BOLT M8 X 1.25 X 45L 92218
51 BOTTLE CAGE 84998
53 LOCK RING 1.29 X 24 X 4T B.E.D. 95450
54 SPROCKET, 14T 84997
55 WASHER 95457
56 LEFT CRANK ARM, ISIS 80035
58 TOE CLIP, SET 47046
59 TOE STRAP, PR 57880

100114 IC PRO, SILVER

https://www.gympart.com/itemdesc.aspx?ic=SP002-1151&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP002-1152&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11945&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10221&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP47046&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP57880&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE80034&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE80035&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE80044&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1416&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84959&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84965&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84966&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84973&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84974&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84975&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84976&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84990&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP92872&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84995&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84996&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84997&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84998&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP91719&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP80049&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP91731&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE92204&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP92218&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP92220&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP92874&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95122&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SV800-4046&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP10002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95120&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP012&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP010&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95426&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95428&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE95428&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95431&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE95431&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95432&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95433&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95434&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95450&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE95456&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95456&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE95457&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95577&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP98009&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP98022&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP98775&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


60 FRAME PLUG FOR BRAKE ASSEMBLY 92206
62 SAFETY RELEASE CLIP 80052
63 END CAP FOR SEAT SLIDER 84971
65 HUB SHELL PLASTIC COVER 92451
68 SLEEVE, SEAT SLIDER 84972
71 PROTECTIVE STEP PLATE, STAINLESS 84962

72 MACHINE  SCREW M5X.08X12L SS 84957
73 SHROUD - RIGHT 84978
74 SHROUD - LEFT 84977
75 MACHINE SCREW M4X.7X10L SS 84961
76 EMERGENCY BRAKE LEVER 84979
77 EMERGENCY BRAKE BUSHING 84950
78 EMERGENCY BRAKE PIVOT PIN 84981
79 EMERGENCY BRAKE E-CLIP 84960
80 RUBBER FRAME GUARD 84999
81 IC PRO/ELITE MNL KIT 002-1206

DWG # DESCRIPTION PART #
EXTRA TALL SEAT POST (6" TALLER) w/sleeve 84952
EXTRA TALL HANDLEBAR (6" TALLER) w/sleeve 84953
EXTRA LARGE BOTTLE CAGE, BLACK 47511
TRIPLE LINK PEDAL SYSTEM 95150
IC/Evo TECH MANUAL 2004 84951
CHAINGUARD WARNING STICKER SHEET OF 12 92215
PLASTIC SHIM SHEET OF 12 92217
DECAL SET 2004 IC Pro 84954
IC PRO/ELITE SHORT HBAR(W/SLEEVE) 84948

Indoor Cycling Optional Accessories

https://www.gympart.com/itemdesc.aspx?ic=SP80052&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84950&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84957&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84960&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84961&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84962&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84971&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84972&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84977&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84978&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84979&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1372&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP84981&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84999&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE92206&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE92451&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SG740-8825&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP007.2&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95150&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP003&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	100114 IC Pro, Silver.pdf
	100114 Schwinn IC Pro 2007.xls



